
Using the 7/16” wrench, loosen the nuts on the back of the bracket, so 
the deck mounting plate is loose enough to raise up and down.

Locate the Spare Tire Bracket Assembly to the GO deck, as shown 
and clamp securely. Be sure assembly is vertical and not angled.

From the underside of the GO, slide the two T-nuts into the T-slot in 
the GO frame and slide to the left, until they are in algnment with the 
mounting holes on the bracket.

Your Spare Tire Mounting Bracket Assembly comes with all the 
hardware you will need, attached and in it’s correct location - ready 
for installation.

Before you begin, you will need to gather the following tools:

1. Portable drill with 1/4” metal drill bit
2. Clamp
3. Tape measure
4. Socket wrench with 7/16” socket

On the passenger side (left, as you are facing the front of the GO), 
place the Spare Tire Bracket Assembly 16” from the inside of the 
vertical pillar, with bracket hook attached under cross bar, as shown.

GO - Spare Tire Mounting Bracket Assembly
Installation Instructions

   Step 1

   Step 2

   Step 3

   Step 4

   What you get:

   What you need:

5. 7/16” wrench
6. Two 13mm wrenches*

*Note: Adjustable wrenches will  
             also work for this.

LOOSEN NUTS

Customer Service:
info@sylvansport.com   828.393.4927

V.04012022



Align the supplied bolts (M8 x 20mm) and washers in the holes and 
into the T-Nuts, as shown, then tighten securely.

Using the existing hole in the adjustable bracket as your guide, drill a 
hole through the diamond-plate deck and the top aluminum flange of 
the frame, using the 1/4” metal drill bit.

Push the bolt (M8 x 30mm) and washer through the adjustable brack-
et hole as well as the hole in the deck that you drilled. 

From underneath the GO, slide washer and nut onto bolt and secure 
tightly with the 13mm wrench.

Using the 13mm wrenches (or adjustable), tighten both the top bolt 
(M8 x 30mm) and the lower nut, until the bracket is secure to the 
deck.

Finally, using the 7/16” socket and 7/16” wrench, tighten the adjustable 
bracket securely. 

Using a lug wrench, mount your wheel/tire to the bracket, check to make 
sure everything is securely tightened. Do an occasional safety check to 
insure everything is secured properly for travel.

   Step 5

   Step 6

   Step 7

   Step 8

   Step 9

   Final Step

GO - Spare Tire Mounting Bracket Assembly
Installation Instructions

V.04012022


